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Sad T B WD @

(A) WD
(B) BT
(C) TR

(D) D

ST Wihd U A fawIiord BIRIara
B GIHH HaEd H S G Bl
g

(A) Fadd G

(B) SHTAIGHR

(C) Ho™

(D) SWH # W B &l

BEH Wewd H URU bl Bl 9l
HE & :

(A)  HHT

(B) i arfeafdd

(SEREERIKR

(D) TR SHad HaeH

UQY Had HaUd HEIH BT IJdhelad
0. T3, A9 B ©

(A) 5.5
(B) 7.5
(C) 8.0
(D) 85
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(3)

Who is known as the father of tissue

culture ?

(A) Lalbach
(B) Haberlandt
(C) Bonner

(D) Lemarck

An unorganised actively dividing the
mass of cells maintained in culture is

called :

(A) Ex-plant
(B) Organogenesis
(C) Callus

(D) None of the above

The growth of the plant tissues in
artificial media is known as :

(A) Hybridization

(B) Gene expression

(C) Transgenesis

(D) Plant tissue culture

The optimum pH for plant tissue culture

medium is :

(A) 5.5
(B) 75
(C) 8.0
(D) 85
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e % 9 SI9-91 UIqU glg B
Tl & ?

(A) Tfclifthere

(B) 3iffdord

(C) WECIPIE T

(D) i

qERY qad Ukl @ Sed $ ol Had
e THd T

(A) BicTd Hea”

(B) ARTH Hoa”

(C) i HoR

(D) VICIRRT heer

URY FHah Gadd AEgH H ygdd oM
UCHh B -
(A) 3R

(B) 3 .3 T

(C) P TARSS

(D) SWad # | BIS T
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Which of the following is not a plant

growth hormone ?

(A) Polyphenols

(B) Auxin

(C) Cytokinin

(D) Ethylene

Virus free plants are developed from :

(A) Bud culture

(B) Meristem culture

(C) Organ culture

(D) Protoplast culture

Solidifying agent that is used in plant

tissue culture media is :

(A) Agar

(B) EDTA

(C) Cobalt chloride

(D) None of the above

Set-A



10.

11.

st @ forv STRerdl Uy gig
fermae 8 :

(A) 3fifaeT

(B) foaRfem

(C) TRl

(D) NTSCIHIE

o e eiRieRl @ i e
IR IO oA B fou ThA RIRTHT B
& HEATN @ -
(A) gl
(B)  UdAaddr
(C)  goreraRrar
(D) Sugad Fl

T STAWfh B &

(A) FaH
(B) I
(C) ®ud

(D) WX

frfoRad & 9 foa W@l daie g
AT e T @ € 2

(A) RETHIY HaeH

(B) T=d WA

(C) ¥ Wi

(D) RRER Hlctd HaeH
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10.

11.

Growth  hormone producing apical

dominance is :

(A) Auxin
(B)
©)

(D)

Gibberellin

Ethylene

Cytokinin

The ability of a single cell to divide and

produce all differentiated cells in the

organism is called :

(A)
(B)
(©)
(D)

Multipotency
Unipotency
Totipotency

All of the above

Which of the following is first transgenic
crop ?

(A)
(B)
(©)
(D)

Maize
Tobacco
Cotton

Pea

To obtain haploid plant, we culture :

(A) Anther
(B)
(®

(D)

Nucleus
Embryo
Apical bud
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12. A RiErg @ I8 A1 d8l A g 12. Micro-irrigation is also called :

(A) d5 Ri=r faf (A) Flood-irrigation
(B) orer Riams fafdr (B) Basin-irrigation
(C) &z Ry fafy (C) Furrow-irrigation
(D) ¥FIgRd Rierg fafy (D) Localized irrigation

13. UM gRT SWINT f%ar W arem o, 9T 13, The water utilized by plants is available
in soil mainly in the form of :

Y TE@Ia: IUAe BT B

(A) DRIBT I & BT H (A) Capillary water
(B) SMEARIEI 3T & wY H (B) Hygroscopic water
(C) TP Td & WU H (C) Gravitational water
(D) SWE ¥ | TS el (D) None of the above
14, =g @1 foq fafer & 9 &1 FHdelidRor 14. Land levelling is not essential for
FIH T & ? irrigation with ............ method.
(A) bs R fafdy (A) Furrow
(B) WM Ryrg faf (B) Boarder
() dIBr R fafyr (C) Sprinkler
(D) Sugad FI (D) All of the above
15. 9Rd ¥ <ud R & ordvd, 3fddaq  15. The largest crop area covered by drip
&5 arell Bel & irrigation in India is under :
(A) R B¥Tel (A) Plantation crops
(B) Welle™ Bl (B) Orchards crops
(C) TH Hucl (C) Vegetables crops
(D) 3cidd Bl (D) Ornamental crops

AGE-62 (6) Set-A



16. cua Riar fasRid g ¢
(A) 9RT H
(B) 3rR® A
(C) Wi H
(D) EoRTEe #

17. O H Yol IRd B cyd [T
fafd gRT STIRT HRAT BEcT 2

(A) HEREH
(B) W
) RS
(D) e

18. BHINE I J& I @ :
(A) Uy yagH
(B) e IcreH
(C) U AEAHROT
(D) SHIE W

19. UlciEsd  FHT @ SWEad  faen
g
(A ST
(B) STR-GE
() g
(D) <lero-ulem

AGE-62 (7)

16.

17.

18.

19.

Drip irrigation is evolved in :

(A) India
(B) U.S.A.
(C) France

(D) Israel

Application of water soluble fertilizer
through drip irrigation system is known

as:
(A) Fertigation
(B) Fumigation
(C) Acidification

(D) Drenching

The main purpose of shade net house is :
(A) Plant propagation

(B) Nursery raising

(C) Hardening of plants

(D) All of the above

The best direction for polyhouse is :

(A) North-East
(B) North-South
(C) South-East

(D) South-West

Set-A



20. %H Fe BT ST 7 oY J o ol 20. Mist-chambers are used for propagation

. 0] PR .

TAIRT HRA # e € |
(A) YCITgH BTS Dheld (A) Soft-wood cutting
(B) &I PIS dhefH (B) Hard-wood cutting
(C) IHg-TET BIS Bl (C) Semi-hardwood cutting
(D) Sugad FHI (D) All of the above

21. TR Be § 3edr 9 2l § 21. A propagation chamber has :
(A) IS 3T AT T (A) No moisture content
(B) 3Hferpad afmedr 7= (B) High moisture content
(C) TdH 3 Gl e (C) Low moisture content
(D) SUYw H H I el (D) None of the above

22. 9 BRA & # I BT odeiaH dusmA 22, The optimum night temperature of cool
¥ green house is :
(A) 5-7°C (A) 5-7°C
(B) 7-10°C (B) 7-10°C
(C) 10-12°C (C) 10-12°C
(D) 12-18°C (D) 12-18°C

23. W sy U 869 H ©d S B8] © 23. The span type green house has :
(A) Ud Bd Gl (A) One roof slope
(B) < Bd g™ (B) Two roof slopes
(C) o Bd M (C) Third roof slopes
(D) 3F® B o™ (D) Many roof slopes

AGE-62 (8) Set-A



24, I FYIAl B ]%m, SUYd A CARGEL] 24. Mango variety suitable for high density

s planting is :
(A) STl (A) Amrapali
(B) Hfeatan (B) Mallika
(C) T (C) Ratna
(D) @ (D) Chausa

25. FHfRed § & ®H-91 glg FRES Tl 25.  Which of the following is not growth

37 retardant ?

(A) BRDE-SI (A) Phosphon-D
(B) WEHIA (B) Cycocel

(C) arms. d1. T (C) IBA

(D) TH. U (D) M. H.

26. RiEE o 98 oH-9 AT g o/ oo 26. Irrigation system which increases water

ST AT 90% B & ? use efficiency upto 90% ?

0 !
(A) BN R fafy (A) Sprinkler irrigation system
(B) <us Riars fafy (B) Drip irrigation system
(C) 4T Riomg fafd (C) Flood irrigation system
(D) Sugad FI (D) All of the above

AGE-62 (9) Set-A



27. 91T Si1g &HdT 3AThferd Bl © ¢ 27.  Seed viability is judged by :

(A) TTIoNferI™ Wier gRT (A) Tetrazolium test
(B) STl WIe gRI (B) Ragdoll test
(C) ¥IST HUT TRIETOT gRI (C) Germination test
(D) 3T TRIETT gRT (D) Vigour test
28. U GEIRY $T 4 Ie¥T & 28.  Seedlings are hardened off to :
(A) UEl @ gRkRl BT AMHR TS (A) Increase leaves size
(B) @il @I FRIf a=A (B) Control pest
(C) Ywd B qeMT (C) Promote flowering
(D) UfRIIU B BT FH FxAl (D) Reduce transplant shock
29. ERA 8 F YRIHE Ie¥F ¢ 29. The primary object of green house is :
(A) 3T BT T BT (A) To get early crop
(B) IR-ANTHI H¥Iei U Bl (B) To get off season crop
(C) 3fd I U Al (C) To get high yield
(D) XFRfET e U Hve (D) To get disease free plant
30. U9 @ Ul & diel 89 Bl BRO B 30. Yellowing of leaves on a plant may be
caused by :
(A) T DI FH (A) Lack of nitrogen
(B) 3@ Ry (B) Overwatering
(C) TP &l HHI (C) Lack of light
(D) Sugad FI (D) All of the above

AGE-62 (10) Set-A



31.

32.

33.

AGE-62

41T IR T IUYad dATIhA T -

(A) 40-45°C
(B) 50-55°C
(C) 55-60°C
(D) 60-65°C
U $ U6 RN W 388 ®RY H YR

HAT BEAT ©

(A)  faReldRoT

(C) AR ®erM e

(D) I&H TR

(11)

31.

32.

33.

Suitable temperature for seed

thermotherapy is :
(A) 40-45°C
(B) 50-55°C
(C) 55-60°C

(D) 60-65°C

The transplanting of young seedling into

an other bed is known as :

(A) Thinning

(B) Hardening

(C) Pricking

(D) Mulching

Sphagnum moss is used in propagation

method of ............... )

(A) Air layering

(B) Stooling

(C) Veneer grafting

(D) Micropropagation

Set-A



34. ProMIC BT FIE A & ; 34.

(A) G

(B) urS!
(C) 3RIC

(D) TRI

35. 3T WIRYT Bed ¥ di9 : 3 @1 35.

3UTT BT @ -
(A 1:1
(B) 1:2
C) 1:3

(D) 1:4

36. 9 B T JUNT TN F w@Er  36.

HEA ©

(A) IHR faied
(B) WcH

(C) T STefiaxu

(D) SUYa H A Bl 7l

AGE-62 (12)

Coco-peat is obtained from :

(A) Datepalm

(B) Arecanut

(C) Walnut

(D) Coconut

In acid scarification, the ratio of

Seed : Acid is kept :

A) 1:1
B) 1:2
C 1:3

(D) 1:4

The controlled hydration treatment to the

seed is known as :

(A) Sizing

(B) Pulsing

(C) Priming

(D) None of the above

Set-A



37. G AdT i SR Sawd 37. Stratification freezing treatment is

3. necessary for seeds of :
(A) I Bieai Bl & diol @ forv (A) Tropical fruits
B) AT weff & I & forw (B) Temperate fruits
(C) U Bell & dIoT & forv (C) Sub-tropical fruits
(D) SUgad JHI (D) All of the above

3. Rf@E O Ui FuRo AR eRar 38. Quality of irrigation water judgement is

3. based on :
(A) B FdUT B AHT TR (A) Total salt content
(B) IETH AR U W (B)  Sodium adsorption ratio
(C) IRMF @ 93T W (C) Boron content
(D) SUPH T W (D) All of the above
39. ‘0N’ P ARG YR Bl fafey & 39. ‘Ber’ is commercially propagated by :
(A) T BicTdr (A) Shield budding
(B) BRI BicTdIa (B) Chip budding
(C) BAIHR BiIHIA (C) Ring budding
(D) foudl Hfcrdmam (D) Patch budding

AGE-62 (13) Set-A



40. UET B Ifpad BeRY feg 0 wa 40

¥ W IUTeS BT § ?

(A) 503 60
(B) 6070
(C) 759 80

(D) 80 ¥ AfrH

41. TR dreradr HieX AU g - 41.

(A R ga @

(B A A gl v

(C) H odv Td ATl au S
(D) SWYad # | BIg T2

42. fy=fafgd oo ugfm & wfa 2 42

JfHaw o T B dTel Ugfd §

(A) TCYGHR Ugfcl
(B) o1 IITdTl Ughd

(C) TIdR Tgha

(D) Tt® UEf

AGE-62 (14)

At which pH, phosphorus availability to

higher plants is maximum ?

(A) 5.01t06.0

(B) 6.0t07.0

(C) 7.5t08.0

(D) Above 8.0

Electrical conductivity meter (EC meter)

measures .

(A) Total salt in soil

(B) Soluble salt in soil

(C) Both total salt and souble salt

(D) None of the above

Maximum number of plants/ha. are

accommodated in :

(A) Hexagonal system of planting

(B) Meadow orcharding system of
planting

(C) Square system of planting

(D) Filler system of planting

Set-A



43. U INTEMT gl BT SeURT W 2 43. Meadow orcharding system is originated

from :
(A) IR (A) U.S.A.
(B) ¥Rd (B) India
(C) <ORIRd (C) Israel
(D) ™ (D) China

44. Od Ec[&ﬁ B BT YT Bl BELe] ERIGRIL 44, Which operation is important for the

s management of tree canopy ?
(A) @le-BIC (A) Pruning

(B) UIARFET (B) Pollarding

(©) o (C) Lopping

(D) 1S forfteT (D) Crown lifting

45. JAIIHRO UG el foar TG WY g 45. Ringing and Nicking practice is adopted

TR el # - for -

(A) Ry 9fg & forg (A) Hastens rooting
(B) e glg & forg (B) Hastens fruiting
(C) R glg & forg (C) Hastens branching
(D) YW HH &R & foly (D) Reduced flowering

AGE-62 (15) Set-A



46. TH T DT Rew G @ vg) 46, The minimum number of satellites
B Ry a1 S A FuiRa o & forw needed for a GPS to determine its

position is :

ATH IWIE DI IALIDRT Bl 3 -

(A) T (A) Two
(B) @R (B) Four
©C) ® (C) Six
(D) 33 (D) Eight

47. frfafed & 4 $9-9 G Aagd yomelt 47, Which one of the following remote

R Hﬁ\ddn 71 PR P 2 ? sensing systems employs only one
detector ?

(A) BT (A) Framing

(B) BT (B) Scanning

(C) Tagagwdy WagH (C) Electromagnetic spectrum

(D) Sugdd Tl (D) All of the above

48. Ol 373, TE. H U W Wd 98 & ol 48. A ‘raster layer’ in  Geographic
B TR T 2 Information System (GIS) is one which

gives information on :

(A) Ffd< &= (A) Specified area

(B) U & H =wgfd fag (B) Selected points in a region
(C) TN Wl & (C) Colours of selected places
(D) SUYa H A Bl 7l (D) None of the above

AGE-62 (16) Set-A



49,

50.

51.

52.

AGE-62

Ug il Ul TH. I HHIST BTAe] Uh

HRAT T

(A) Iefd fagrya

(B) ¥l 3T

(C) egfd fAPvar vd Boel Sere
M

(D) S & & T T

URYE TRl B 59 ®Y H W AT S
g

(A) ffde @

(B) Wcage Tl

(C) +HIcH Wil

(D) fafda @

IR &R FYANT (@ 3R, T) SdRd
qGID BT T oM &

(A) SRE TG I DI g9d
(B) wRIfdT SUW gfeg

(C) aTaTeRT gReT

(D) Suda Wl

IRYE Tl B :

(A) Y v T

(B) 3T Tehrilch bl AT
(C) WrNfer & Wead ¥ ARl &l

ST
(D) ST I

(17)

49.

50.

51.

52.

A, GPS -equiped combine harvester

collects information :

(A) Topography feature

(B) Crop yield

(C) Both Topography feature and crop
yield

(D) None of the above

Precision Agriculture is also known as :

(A) Specific farming
(B) Satellite farming
(C) Nanotech farming
(D) Mixed farming

Rate
fertilization

The advantages of Variable

Application (VRA)

technology is :

(A) Saving on fertilizer and chemicals
(B) Potential yield increase
(C) Environmental protection

(D) All of the above

Precision farming is a :

(A) Farming management system

(B) Use of advance technology

(C) Use of information through
technology
(D) All of the above
Set-A



53. WHIH {9 T : 53. Sphagnum mossisa:

(A) eigfiE (A) Lithophyte

(B) 3iferrey (B) Epiphyte

(C) SelgfE (C) Hydrophyte

(D) HAEME (D) Mesophyte

54, WRG ¥ -G IS4 YUH 3w oy 54 Which state has been declared as organic

B g 2 7 state in India ?

(A) ORI (A) Gujarat

B) fifdmd (B) Sikkim

) P (C) Kerala

(D) 8. . (D) U.P.

55. f=fRad § ¥ dH-9 I Sifdd 96 55. Elements which are associated with

R § WERE § biological Nitrogen fixation are :
(A)  HIRRE U9 SRRar (A) Mg and Zn
(B) Hf’RH T4 HiaTee (B) Caand Co
(C) HTN T4 FaIRSS (C) Mnand Cl
(D) <IET q Hifeles (D) Feand Mo

56. Weguildl A9y (ARORIZW) b9 T@ @ 56. Mycorrhiza mainly helps in the uptake

A H HEAD & 7 of :

(A) TS (A) Nitrogen
(B) HIVHRA (B) Phosphorus
(C) ¥\ (C) Sulphur
(D) STl (D) Zinc

AGE-62 (18) Set-A



57. f=fafed § ¥ o9-91 oeMe Savd  57. Which of the following is an organic

37 fertilizer ?
(A) AfSIH TEee (A) Sodium nitrate
(B) 3HIfFRM Wewe (B) Ammonium sulphate
(C) IRa (C) Urea
(D) TR TINES (D) Potassium chloride
58. UETel &l @ [ IUYaad 19T UGl 58. The planting system suitable for hilly
3. areais:
(A) TTHR 99T Ggh (A) Square system
(B) T UV Ugh (B) Filler system
(C) YA v yghc (C) Hexagonal system
(D) Hrd T Ugf (D) Contour system
59. ‘®edd’ BEH H Ear e 59. ‘Rootex’ hormone contains :
(A) 3iffder (A) Auxin
(B) BrEHlc (B) Kinetin
(C) TRYeIH (C) Ethylene
(D) Sugad FI (D) All of the above
60. #aT H 3Tt I % 60. Immobile nutrient in the soil is :
(A) HTHI (A) Mn**
(B) U B) K-
(C) oIl (C) zn*+
(D) HWIRR (D) Mg+

AGE-62 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & ¢
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRAET T 3 H, H-B
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SYINT AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT SN HUFROT & AT BT |

HEAYU
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| EAYRADT Fiel W YA G 9% o o
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